X-%e (A.x+’5)’“ x 2L A6 Z5+0%

1/ X2?
P\ X>-5
2
50
316 39m 3250 P x, l—.-sgrm

3

_Z_? 7 :

A — X

AR S= {xeﬂ?,/ X7
I - [?',w)

NT€98 faG ¢4

X52x

F/él 1469] 2.

2
X-2Cx

] <2 Cau,K>O
X=2x ZX _Z -—KéA(X)AK
i se A(x)>0
M(x)d/ \
€ A(x)<o
-A(QM/ (
lA()( >JK \
%@R \]X-LH
X+l \\M"ll 1 o 2
N) &(xv) 7o + |+ -] +7
tﬁ X+ >0 - *f;i;
x= ¥ N0 A
~X*i L1 \>(4-Z>(LZ
Kt -
X %+2*X+24 N
K AR+ 2K+L XA
T X -1 X FL
NX+2 >0 N EITS S

D ~x-1%0 x¢-| X'H})o X>-|

_’H
J ST TIEEDR
5 F0|—= = [P T|EF

S, +©

LONRARITR AT
Bl e G
AENENENES
STEa Tl
x,.——"'/\>®




adode  Tosh (_)_I\j (AHPO 1m M ine
SAMM Tosn UN UNrfo 1w M focinn
é-
/Ioprﬂ?o ¢

(V\/NVW"\— _/_‘ZA—_WM










	Pagina 1: mag 8-15.33
	Pagina 2: mag 8-15.33
	Pagina 3: mag 8-15.33
	Pagina 4: mag 8-15.33

